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Hlustration 1. N
Calculate the prevailing market price of a 3

share using Walter’s model from the following ing
Ormay

Rate of return on investment 10%

Cnpitnliqalinn rate 8%
Earning per Share Z5
74

Dividend per Share

WSolurionD
share (P) is given by,

As per Walter’s model, market price ofas

,
- D+ TC( E- Dl
Ke
where, D = Dividend per share
=4
r = The rate of return on investment
= 10% = 0-10
K, = Cost of equity capital or capitalisation rate
= 8% = 0-08 h
and E = Eamings per Share
=Rb
Now, putting the respective values in the model, we get,
24+210 75 74)
P= 0-08 =% 6563
0-08
So, the prevailing market price of a share using Walter’s model is X 65-63.
ﬁ Illustration 2.
X Ltd. earns ¥ 6 per share having a capitalisation rate of 10 per cent and has a return on investmer:
% dividend pay-ou

of 20%. According to Walter’s model, what should be the price of the share at 25

@Solutiona

According to Walter’s model, market price of a share, P is given by,

[CA Inter Nov, 201

D+7<!—(E—D)
P= :
KC
‘where,

D = Dividend per share i.e., EPS x D/P Ratio

or, T6x25% =%150.
r = Rate of return on investment i.e., 20% or 0-20.

K, = Capitalisation rate i.e., 10% or 0-10.
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F = Earnings per share i.e., T 6.

. 2y 0SS 1 1
<o, putting the values in the model, we get,

- %’1-504-%%%(2‘6—(150)
T 010

=105

‘ lllustration 3.
gom the following information supplied to you, determine the theoretical market value of equity
dares of a company as per Walter’s Model :

Eamings of the company % 5,00,000

| Dividend paid ¥ 3,00,000
Number of shares outstanding ‘ 1,00,000

8

Price-earning ratio
Rate of return on investment 15%
Are vou satisfied with the current dividend policy of the firm? If not, what should be the op

dividend pay-out ratio in this case ?
[C.U. B.Com (H), 2019][Almost similar to C.A. Inter, Nov 2014]

@ Solution :) ‘ |

As per Walter’s model, the market value of an equity share (P) is given by,

timal

r
—(E-D
D+K ( )

P:_’_C;____-——-z
/
€

where,
P = Market value of an equity share ;

D = Dividend per share
Dividend paid
f shares outstanding

Numbél‘ o

73,00,000 _
= 71,00,000
Rate of return on investment

!

r =
=015;
= Capitnlisation rate

1

= Price-caming Ratio (P/E Ratio)

A
~

I\

1
8
125
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and E = Eamings per Share

Total Earmnings

= Number of shares outstanding

_%5,00,000
= 71,00,000

B,

A4

Now, putting the values,

73+ 210 25 73
P= 0:125 =% 43-20

0-125

So, the theoretical market value of an equity share is ¥ 43:20. o . g
with the current dividend policy. As the firm is a growth firm, where (0-15)

But we are not satisfied h
> K, (0-125), the optimum dividend pay-out ratio should be zero.

This can be shown by considering following four situations. .

D = zero D=%1
015
' I5-%1
042 15,(%5-0) _ z1+0-125( )
0-125
— 748 =T 4640
D =22 : D=%4
. 015 __ . 1,015 2o S
B o z/.+0_125(za-zz) p- ?-+0_125( 2—:7)
0-125 , 0-125
=7 44-80 =3 41-60

Thus, it is clear from above that the market price of an equity share is maximum (i.e., ¥ 48) when the
dividend pay-out ratio becomes zero. '

ﬁ Hlustration 4.

Following information relating to Jee Ltd. are given :

Profit after tax -3 10,00,000
Dividend pay-out ratio ‘ 3 50%
Number of Equity Shares 50,000
Cost of Equity 10%
Rate of Return on Imvestment 12%

(i) What would be the market value per share as per Walter’s model?

(if)y What is the optimum dividend pay-out ratio according to Walter’s Model and Market
value of equity share at that pay-out ratin? [C.A. Inter Nov., 2018

[Almost similar to C.A. Nov, 2010
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D = Dividend per share (ie. 5
e, 50% of T 10
oF, % 10 per shate ,00,000)/50,000 shares)

r = Rate of return on investment j.e, 12
K= Cost of equity i.e., 10% or 0-10

E = Earnings per share (ic, 7 10,00,000/50,000 shares)
or, T 20 '

Now, putting the values,

% or (0-12

012

_ R10+515(320-310)
0-10

=3 220

il Optimum Dividend Pay-out (D/P) Ratio.

scording to Walter’s model when the return on investment () is more than the cost of capital (K)
. . . . . i e
ie, 7 (0-12) > K, (0-10), the firm is considered as a growth firm. In that case, the price per share
ncreases as the D/P ratio decreases. Hence, the optimum dividend pay-out ratio in this case
should be Zero or Nil. .

Therefore, at D/P ratio of zero, the market price per share (P) will be,

012
_ O~l-——0_1 0 (20-0)
010

=3 240
ﬁlllustration 5.

You are requested to fin

d out the approximate dividend payment ratio as to have the share price at
n following information available for a company.

75 by using Walter’s Model, based 0

Cost of Capital (after tax) (K,)

@ Solution )
Calculation of Divide

oAby Per
Dividend '
D/P I{aho = Earni”gs I’L’l‘f’

d l’1y-oul (/P Ratio
n ‘

Ghare _(41_)_{?1_).
pare (EP5)

T 50 lakhs

Net Profit
80 lakhs
Outstanding 10% Preference Ghares - hkh:
Number of Equity Shares 5%
Return on Investment 12%

[C.A, Inter, May, 2017]

7 rf‘;‘::‘\:‘\h‘ 7 7l .
. 10 g
. » ‘i 5 ke
o :

Scanned with CamScanner




(716 %’l\ L FAYE R LE LY A

W/u‘n'
ie. I'AF puh re nu div- fend

. Earnings av railable to m]uﬂv share h(_whh ra
Ha = o Numhu of « qum hdll

T50,00,000 (ms\nmnp alte Lln\) (10%
—TTTTR,00,000

o o —————

faa be ) )

_ T42,00,000 _ 7840
5,00,000

DPS may be computed as follows

D+--(E-D)
’ k‘( [Using Walter’s Model]

P = >
¢
Where,
p = Market price i.c., T 56.
D = DPS
r = Return on investment i.c.,
K, = Cost of equily capital i.e., 12° Au or 012
E = EPS ie., T 840

Now, putting the values,

/n or O 15

. D+%§-§:(: 8-40-D)

T56= T

or, 56x012=D +10-50 - 1-25D
or, 672= 1050 - 025 D

or, 025D = 10-50 — 6:72

D= 378 =%1512
025

, . _ 21512
Now, D/P Ratio 5 5.40 x100

= 180%

ﬁ Hlustration 6.

The following information is available in respect of a firm :

Capitalisation rate (K,)=0-10
Earnings per share (E) = %10

Assumed rate of return on investments (r) : (i) 15%, (ii) 10% and (ii) 8%.

Show the effect of dividend policy on the market price of shares, using Walter’s model. Assum
0/o, 500/0, 75% and 1000/0

Dividend Pay-out ratio (D/P Ratio) : 0%,
Also state the optimum dividend pay-out ratio.

\T@ Solution :)

According to Walter’s Model, market price of a share, P is given by, ‘

nl' \bU ()() 00()) or \8 00 0()0

idend
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Wheres

D = Dividend per share,
r = Rate of return on investment,

K. = Capitalisation rate,

E = Earnings per share.
gjtuation 1:
when r=15% or 0-15 and K, = 0-10

(o 1> K. = Growth Firm)

value of Shares (Walter’s Model) at different D/P Ratio :

r D/P ratio = 0%
(i.e., Dividend per Share = zero)
15

0, 018

pe o100
0-10

=Y 150

|

r’ D/P ratio = 50%

(i.e., Dividend per Share =3 5)

0-15
I5+ J10-}
p= 0.10(\ 0-35)
0-10

=3125
- D/P ratio = 100%
(i.e., Dividend per Share =%10)
0-15
—(X10-%X
e ?10+0_10(? 0-%10)

0-10
=3 100

P Interpretation :

D/P ratio = 25%
(i.e., Dividend per Share =3 2-50)

2250+ 222 (710-22-50)
_ 0-10

0-10

p

=3 137-50

D/P ratio = 75%
(i.e., Dividend per Share = T 7-50)

0-15
. —(%10-%7-50
_ ’(750+0_10( 10- )

0-10
=3 112-50

e above calculation, it is quite clear that the value of shares (P) is inversely related to the
out ratio increases, the market value of shares declines. This is so, because the
firm is a growth firm (where r > K,) and is able to earn a return on investments (r) exceeding the

required rate of return (K,). The market value of shares (% 150) is highest when D/P ratio is zero, i.e.
arnings. When all earnings are distributed, i.e. D/P ratio is 100%, then its

From th
D/P ratio. As the pay-

the firm retains its entire e
market value shows the lowest price (X 100).

So, the optimum pay-out ratio is zero.
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Situation 2:
When r=10% or0-10 and K, = 0-10
(ie.r=K, = Normal firm). ‘
Value of shares (Walter's Model) at different D/P Ratio:

| io = 25%
[D/rrto=0n] | _ [D/Pratio =B%)
(Dividend per Share = Zero) (Dividend per Share =3 2.50 1‘
0-10 N
0-10 72.50+——(310-32-5) ;{
P 04-010(\10—0) p=_ 02)(]]0 '}
i 10 .
=3 10k - — |
D/P ratio = 50% | D/P ratio = 75% ,
/ < =2 o o s |
(i.e., Dividend per Share =353) (Dividend per Share =3 7.50) {
0-10 '
010 =10z 77.50+ ——(%10-37-50)
P 35*0_10(\10—\5) p= 0-1810 l(
- 0-10 - ’
=3 100 =T 100 :
=X —\3
i D/ P ratio = 100%
(Dividend per Share =< 10)
(10+9;1—0((10—:10)
P= 0-10
0-10
=3100

» Interpretation :

Under this situation, when r = K, , the market value of shares is constant irrespective of the D/PRas,
It is a matter of indifference whether the firm retains whole of the profits or distribute dividends.g,
there is no optimum dividend policy. But this is a hypothetical situation ; r and K, cannot be s
same. Moreover, Walter concludes that dividend policy does matter as a variable in maximising share
prices.
Situation 3 :
When r=8% or0-08 and K, = 0-10
(re., r < K, = Declining Firm)
Value of shares (Walter’s Model) at different D/P Ratio :
D/P ratio = 0% '
(Dividend per Share = zero)

0-08

D/P ratic = 25% |
(Dividend per Share =< 2-30)

|
) 07 T10-0) » zz-smg'?immz-so) |
010 ’s 0-10 |

=780 =785 |
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,(’( | D/P ratio = 509, :
(i.e., Dividend per Share = 5) : ‘ D/P ratio = 750/01

{ /‘ . 0-08 (Dividend per Share = % 7-50) ‘\
L T5+-——(310-25) ‘-;
| pP= 0-10 27.50,.0:08 . :\
‘ ! 0-10 _ -50+0.—10—(?10—?7-50) i
| =390 0-10 ‘

L — =395 ‘ ’l,

D/P ratio = 100%
(Dividend per Share = ¥ 10)

P= 0-10
/ 0-10

=% 100

0-08
_ %10+-——(%10-310)

l

e

) Interpretation :
When the firm is a declining firm, where r <K, D/ P ratio and the value of share are correlated

positively. That is, when pay-out ratio increases, the market value of shares also increases and vice
aare is maximum (X 100) when D/P ratio is 100%. So, under thi

versa. The market value of sl
sable to distribute the entire earnings as dividend to the shareholders.

situation, it is advi
Therefore, the optimum D/P Ratio is 100%.
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